Question Answer Marks AO Guidance
(@) 5 B1 11
Substituting x =—3 into |2X - 1| M1 11a
7 Al 1.1
[3]
(b) 2X—1>x+1 therefore x>2 B1 1.1 |OR OR
B1 for a sketch of y = |2X - 1| and B1 (2x —1)2 >(x+ 1)2 seen
Yy = X+ lon the same axes
_( 2X — 1) >xX+1 (Allow = in bracket) M1 3.1a | M1 attempt to find the points of M1 attempt to multiply out
intersection and simplify, then solve
quadratic
x<0 Al 1.1 | Alobtainx>2and x<0 Al obtain x>2and x<0
Al 25

{x:x<0} U{x:x>2}

[4]

AL{x:x <0} U{x:x>2}

AL{x:x<0}U{x:x>2}






